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1.                   (SC) Choose the meaning of the term „Analgesia”:

a) Lack of pain sensation

b) Lack of tactile sensation

c) Lack of thermal sensation

d) Muscle relaxation

e) Supressed consiouness

2. (MC)  Choose the monitoring techniques used during anesthesia:
a) Capnometry

b) Cardiac output measurement

c) Electroencephalography

d) Nuclear Magnetic Resonance 

e) Pulse oxymetry 

3. (MC) Choose the components of common hemodynamic response to a nociceptive stimulus:
a) Arterial hypertension

b) Cardiac arrest

c) Hypothermia

d) Tachycardia

e) Tahyphylaxis

4. (SC) Specify the meaning of the term „Capnography”:
a) A method of measuring body oxygen metabolism 

b) Cardiac output measurement

c) Graphycal registration of CO2 concentration in the exhaled  air 

d) Measurement of the global lung ventilation

e) Registration of the O2 hemoglobin saturation 

5. (MC)  Choose the the effects of Ketamine: 

a) Cardiovascular depression

b) Increase in blood pressure

c) Increase in intracranial pressure

d) Hallucinations

e) Muscle relaxation

6. (SC) Choose the correct ratio of Morphine/Fentanyl analgesic potency:
a. 1:10

b. 1:50

c. 1:100

d. 1:200

e. 1:400 

7.  (SC) Choose the most potent analgesic:   
a.) Codeine

b) Fentanyl

c) Morphine

d) Omnoponum

e) Promedolum

8.  (MC) Choose the processes associated with skeletal muscle cell depolarization: 

a) Decrease in intracellular clorine ion concentration

b) Decrease in intracellular potasium concentration

c) Decrease in intracellular sodium concentration

d) Increase in intracellular potasium concentration

e) Increase in intracellular sodium concentration

9. (MC)  Choose the effects of intravenous Ketamine administration: 
a. Analgesia

b. Bradycardia

c. General anesthesia

d. Hypotension

e. Moderate increase in blood pressure

10. (MC) Choose the complications assosiated with Lidocaine overdosage: 
a. Convulsion

b. Cough

c. Central nervous system excitation 

d. Loss of consciousness

e. Sharp abdominal pain

11. (SC)  The correct amount of Lidocaine contained in 100 milliliters of 1% solution is:
a) 10 mg

b) 100 mg

c) 1 gr

d) 10 gr

e) 100 gr

12. (MC)  Choose  the correct statements concerning Nitrous Oxide properties:
a) It provides analgesia

b) It increases the amount of thrombocytes

c) It induces hypnosis

d) It produces arterial hypertension

e) It induces cardiac arrhythmia

13. (SC)  Choose the correct statements concerning Propofol: 
a) It depresses the cerebral cortex 

b) It has a long duration of action 

c) It is an intravenous general anesthetic 

d) It is metabolized rapidly

e) It stimulates the limbic system
14. (SC)  Select the most precise meaning of the term „Epidural anesthesia”:

a) Local anesthetic is administered in the cerebrospinal fluid

b) Local anesthetic is administered in the epidural space  

c) Local anesthetic is administered in the paravertebral zone

d) Local anesthetic is administered  intramuscularly 

e) Local anesthetic is administered  intravenously  

15. (MC)  Choose  the methods of Local/Regional anesthesia: 
a) Intravenous administration of  morphine

b) Local/topic application of the local anesthetic

c) Brachial plexus block
d) Tissue infiltration with  local anesthetic 

e) Inhalation of halotane

16. (MC)  Choose the effects of Sodium thiopental:
a)  Respiratory center activation

b)  Direct myocardial depression  

c)  Respiratory center depression  

d)  Arterial hypertension

e)  Arterial hypotension

17. (MC)  Choose the effects of Succinylcholine: 

a) the duration of action is approximately 5-10 minutes
b) the duration of action is approximately  30 min

c) it increases serum potassium level 

d) it produces postsinaptic membrane depolarization

e) it produces postsinaptic membrane hyperpolarization

18. (SC)   Choose the correct statement concerning Pipercuronium bromide (Arduan):
a) the duration of action is approximately 5 minutes
b) it is a depolarizing neuromuscular blocking agent 

c) it is a non-depolarizing neuromuscular blocking agent 

d) it produces muscle pains  

e) it induces hyperpotassemia   

19. (MC) Choose  the correct statements concerning Fentanyl: 
a. it is more potent than Morphine

b. it is less potent than Morphine

c. the duration of analgesia is approximately 20-30 minutes

d. the duration of analgesia is 60 minutes

e. it is used for weaning patient from anesthesia

20. (MC) Choose the effects of Sodium Thiopental: 

a) Respiratory center depression

b) It can produce bronchospasm

c) Arterial hypertension

d) Arterial hypotension  

e) Hypnosis

21. (MC) Choose the effects of Ketamine:
a) Dissociative anesthesia

b) Moderate increase in blood pressure

c) Hallucinations during the weaning from anesthesia

d) Arterial hypotension

e) Bronchospasm

22.   (MC)  Choose the correct statements concerning Nitrous oxide:  
a) it can irritate upper airways

b) it provides analgesia 

c) it provides hypnosis 

d) it induces arterial hypertension

e) it can induce dillutional hypoxia
23. (MC) Choose the inhalation anesthetics:  
a) Desflurane

b) Enflurane 

c) Etomidate 

d) Halothane

e) Nitrous oxide 

24. (MC) Choose the inhalation anesthetics that are gases: 
a) Enflurane 

b) Etomidate 

c) Halothane 

d) Nitrous oxide

e) Xenon

25. (MC) Choose the contraindications to anesthesia with Barbituarates: 
a) Allergy to barbiturates 

b) Bronchial asthma  

c) Seizures  

d) Arterial hypotension

e) Liver failure

26. (SC)  The onset of hypnosis  after Thiopental intravenous injection occurs in:

a) 30-60 s

b) 5-8 min

c) 20 min

d) 30 min 

e) 1 hour

27. (MC). Choose the common side effects of Sodium Thiopental:  
a) Seizures

b) Cardiovascular depression 

c) Respiratory depression 

d) Vein irritation  

e) Laryngeal spasm 

28. (MC)  Choose the local anesthetics: 
a) Buprenorphine

b) Cocaine 

c) Dopamine 

d) Lidocaine

e) Procaine

29. (SC) Choose the drug that was first used as a local anesthetic:
a) Cocaine

b) Lidocaine

c) Mepivacaine 

d) Prilocaine

e) Procaine

30. (SC)  Choose the drug of choice for the treatment of seizures after a local anesthetic overdose:
a) Diazepam
b) Droperidol

a. Fentanyl
b. Ketamine
c. Sodium oxybutyrate
31. (SC)  The reason of why the II-nd lead for ECG monitoring during anesthesia is  used: 
a) it shows better the T wave 

b) it shows better the ventricular (QRS) complex  

c) it does not require grounding

d) it technically is easier to be performed

e) it shows better the P wave  

32. (MC)  Choose the tissue layers that the needle must pass  through when performing epidural anesthesia:  
a) Skin

b) Supraspinous ligament

c) Interspinous ligament  

d) Intervertebral disk

e) Ligamentum flavum 

33. (MC)  Choose the tissue layers that the needle must pass  through when performing spinal anesthesia:  
a) Skin

b) Supraspinous and interspinous ligaments  

c) Intervertebral disk

d) Ligamentum flavum

e) Dura mater

34. (SC) Choose the correct location of epidural space: 
a) Berween the dura mater and spinal cord

b) Between the intervertebral disk and ligamentum flavum

c) Between the ligamentum flavum and dura mater

d) Between the supraspinous and interspinous ligaments

e) Between the supraspinous and flavum ligaments

35. (MC) Choose  the correct statements concerning the subarachnoid space:
a) It contains cerebrospinal fluid 

b) It is a space between the arachnoid mater and pia mater

c) It is a space between dura mater and arachnoid mater 

d) It is a space between the ligamentum flavum  and intervertebral disk 

e) It is a space between the ligamentum flavum and dura mater 

36. (SC) . Choose the structures the local anesthetic acts on in case of epidural anesthesia: 
a) Anterior grey horn 

b) Spinal cord 

c) The roots of spinal nerves 

d) the motor fibers exclusively

e) the sensory fibers exclusively

37. (MC) Choose the components of general anesthesia:    
a) Analgesia

b) Hypnosis

c) Hyperthermia 

d) Muscle relaxation 

e) Autonomic nervous system stability (Homeostasis) 

38. (MC) Choose  the techniques used for local/regional anesthesia:
a) Brachial plexus anesthesia
b) Inhaled halothane anesthesia

c) Intravenous anesthesia with Propofol

d) Infiltration anesthesia
e) Topical anesthesia

39. (MC) Choose the local anesthetics:
a) Cocaine

b) Dopamine

c) Lidocaine

d) Morphine

e) Procaine

40. (SC) Choose the local infiltration anesthesia technique:
a) Administration of local anesthetic in the metaphyseal or epiphyseal bone region

b) Mucous lubrication with local anesthetic

c) Layered tissue infiltration with local anesthetic

d) Intravenous injection of local anesthetic after applying the tourniquet

e) Perineural local anesthetic injection

41.  (MC)  Choose the correct statements concerning Tuffier's line:  
a) it is an important landmark for the performance of epidural anesthesia 

b) it is an important landmark for the performance of  spinal anesthesia 

c) it is a line drawn between opposite iliac crests

d) It crosses the vertebral column at the L4 level

e) It points on sciatic nerve root  

42. (MC) Choose  the local/regional anesthesia benefits:
a) Important hemodynamic effects

b) Minimal depressive effects on the respiratory centers 

c) Preserved contact with the patient

d) The possibility of  postoperative analgesia

e) Decreased rate of thromboembolic complications 

43. (MC) Choose the disadvantages of local/regional anesthesia:
a) Minimal interference with respiratory function

b) Time consuming

c) The possibility of ineffective analgesia

d) Increased thromboembolic complications

e) Systemic toxicity

44. (SC)  Choose the drug of choice for the treatment of seizures (convulsion) after a local anesthetic overdose:
a) Droperidol
b) Diazepam
c) Fentanyl
d) Ketamine
e) Nitroglycerin
45. (SC) Choose the false statement concerning Succinylcoline:

a.  it is a a muscle relaxant 

b. It produces depolarisation of postsynaptic membrane 

c. It increases K+  blood concentration  

d. It decreases the blood level of Na+
e. the fasciculations are common 

46. (MC) Choose the true statements concerning monitoring during anesthesia:

a. SpO2 monitoring is mandatory

b. The complexity of monitoring depends only on surgery duration

c. The 2nd ECG lead is the most recommended lead

d. Temperature monitoring of all patients given general anesthesia lasting more than 30 minutes
e. It is not mandatory during local/regional anesthesia 

47. (MC) Choose the confirmation criteria of endotraheal tube placement:

a. The presence of capnometric wave during manual ventilation

b. Bilateral rising of the chest during ventilation

c. The length from the alveolar ridge to the tip of the tube is 22 cm

d. Airway pressure <30 cm H2O
e. Presence of breath sounds bilaterally 
48. (MC) Choose the Suxamethonium-related side effects:

a. Muscle pain

b. Malignant Hyperthermia  

c. Rhythm disorders 

d. Hypernatremia

e. Hyperkalemia 

49. (MC) Choose the drugs used as hypnotics during anesthesia:

a. Sodium thiopental 

b. Fentanyl

c. Ketamine

d. Suxamethonium

e. Propofol 

50. (SC) Choose the drug that is not a non-depolarizing muscular blocking agent:

a. Rocuronium  

b. Atracurium 

c. Mivacurium 

d. Pancuronium 

e. Suxamethonium 

51. (SC) Choose the false answer concerning Fentanyl:

a. its analgesic effect exceeds 100 times the analgesic effect of Morpfine 

b. it is a natural opioid

c. it is used for postoperative analgesia 

d. it depresses respiratory center 

e. it produces chest rigidity 

52. (MC) Choose the true affirmations concerning Sevoflurane:

a. it is an liquid anesthetic agent used by inhalation
b. it is used for induction 
c. it is a bronchodilator 
d. its cardiovascular effects are insignificant 

e. it produces airway irritation 

53. (MC) Choose the correct statements concerning Nitrous oxide:  
a) Can be used as sole anesthetic (monoanesthesia)  

b) Causes airways irritation 

c) Provides analgesia 

d) Provides hypnosys 

e) The effect develops slowly

54.  (MC) Choose the common findings in an Elderly patient: 

a) Decreased cardiac output

b) Increased cardiac output

c) Increased glomerular filtration rate

d) Increase in total lung capacity

e) Lower tolerance to anesthetic drugs  

55. (SC) Choose the drug used to reverse the benzodiazepine effect:     

a) Fentanyl 

b) Morphine

c) Clonidine

d) Flumazenil 

e) Cocaine 
56. (SC) Choose the short acting non-depolarizing neuromuscular blocking agent:
a)  Succinylcholine

b)  Pipecuronium

c)  Mivacurium

d)  Tubocurarine

e)  Pancuronium

57.(MC) Choose the supra-glottic devices used for airway management:
a) Nasotracheal tube 

b) Laryngeal mask

c) Guedel airway

d) Orotrachel tube 

e) Tracheostomic tube 

Acute cardiac failure  

(SC) 1. Choose the type of Heart Failure which cannot be considered Acute Heart Failure:

a. Chronic decompensated HF

b. Hypertensive HF

c. Chronic congestive HF

d. Cardiogenic shock

e. Right-sided HF

(SC) 2. When there is an increase in the diastolic expansion (higher preload), it will also increase the strength of systolic contraction (higher systolic volume). This relation is known as:

a. "Frank-Starling" law

b. "Otto Frank" law 

c. "Starling-Pappenheimer-Staverman" law

d. "Laplace" law

e. "Hilton's" law

(SC) 3. Cardiac output is:

a. Blood volume ejected by heart  during systole

b. Blood volume ejected by heart per 1 minute

c. Blood volume circulating in the body

d. Blood volume against the body surface area

e. Blood volume against the body weight

(SC) 4. Pericardial effusion in acute heart failure is a sign of:

a. Left-sided HF

b. Right-sided HF

c. Severe hypovolemia

d. Compressive haemothorax

e. Cardiogenic shock

(SC) 5. Levosimendan is:

a. a beta-blocker

b. a converting enzyme inhibitor

c. an antiarrhythmic

d. a dopaminergic inhibitor

e. a positive inotrope

(SC) 6.  Pulmonary capillary wedge pressure (PCWP) reflects indirectly:

a. Left atrium filling 

b. Right atrium filling

c. Right ventricle filling 

d. Left ventricle filling

e. Pulmonary circulation filling

(SC)7. In a patient with increased systemic vascular resistance and high blood pressure the drug of choice is: 

a. Vasodilator

b. Vasopressor

c. Diuretic

d. Beta-blocker

e. Fluids 

(SC) 8.  In a patient with hypotension and decreased systemic vascular resistance the drug of choice is a: 

a. Noradrenaline

b. Adrenaline

c. Dopamine

d. Dobutamine

e. Nitroglycerine  

(MC) 9. Systemic vascular resistance is increased in the following types of shock:

a. Cardiogenic 

b. Hypovolemic 

c. Septic 

d. Neurogenic 

e. Anaphylactic 

(MC) 10.  Systemic vascular resistance is increased in:

a. Hypovolemic shock

b. Adrenal insufficiency 

c. Acute hemorrhagic pancreatitis

d. Anaphylactic shock

e. Pain, anxiety

 (MC) 11. Systemic Vascular Resistance is decreased in:  
a. Septic shock

b. Acute pancreatitis

c. Liver Cirrhosis  

d. High spinal trauma 

e. Hypovolemic shock 

(MC) 12. The common causes of left ventricle failure are:

a. Acute myocardial infarction and acute ischemic heart disease

b. Aortic dissection

c. Air embolisation

d. Mitral valve insufficiency

e. Aortic valve stenosis

(MC) 13.The common causes of right ventricle failure are:

a. Aortic valve stenosis

b. Pulmonary thromboembolism

c. Air embolization

d. Amniotic fluid embolization

e. Mechanical ventilation with excessive positive pressure 

(MC) 14. Dyastolic cardiac failure caused by external compression mechanism can be produced by:  

a. Pericardial calcification or effusion 

b. Tension pneumothorax 

c. Massive pleurisy  

d. Massive acute myocardial infarction 

e. Controlled (artificial) lung ventilation 

(MC) 15. Oxygen transport is dependent on:

a. Hemoglobine level (Hb, g/L)

b. Carbon dioxyde partial pressure in arterial blood (PaCO2, mmHg)

c. Hemoglobine saturation with O2 of the arterial blood (SaO2, %)

d. Oxygen partial pressure in arterial blood (PaO2, mmHg)

e. Cardiac output (CO, L/min)

(MC) 16.  Cardiac output is produced as a result of the interaction of the following components:

a. Preload

b. Afterload

c. Heart rate and rithm

d. Contractility

e. Tidal volume

(MC) 17 Preload is defined as:

a. The myocardium sarcomere length at the end of diastole 
b. End- diastolic ventricular volume  

c. End-diastolic ventricular pressure

d. Venous return to the heart  

e. Resistance to the outflow of blood from the heart   

(SC) 18. The following statement about central venous pressure are correct:

a. it is the pressure of the inferior vena cava

b. it is the pressure in the venous system, near to the heart 

c. it is not influenced by intrathoracic pressure

d. it is determined by left ventricular function

e. it is an indicator of cardiac contractility
(MC) 19. Afterload is:

a. Myocardium wall tension during systole   

b. End-diastolic myocardium sarcomere length  

c. End-diastolic ventricular volume 

d. Resistance to blood ejection from the ventricle
e. Resistance to the blood flow in the major vessels  

(MC) 20. The management of a patient undergoing cardiac surgery in perioperative period includes :  

a. Hyperbaric oxygen treatment 

b. Respiratory support 

c. Nutritional support  

d. Analgesia and sedation 

e. Prophylactic medication (antibiotics, anticoagulants, antiagregants)  

a. (MC) 21. Bradycardia requires the treatment when:  

b. HR  ≤35 bpm, irrespective to blood pressure 

c. HR ≤35 bpm, with hypotension 

d. HR ≤50 bpm, irrespective to blood pressure 

e. HR ≤50 bpm, with hypotension 

f. HR  >50 bpm, with normal blood pressure 

(MC) 22. In case of bradycardia the patient should be assesed for: 

a. Potassium blood level  

b. Thyroid hormone (hyperthyroidism identification)

c. Thyroid hormone (hypothyroidism identification)

d. Chronic beta-mimetic therapy  

e. Chronic beta blockers therapy 

(MC) 23. Vasodilators are indicated in case of:

a. High systemic vascular resistance 

b. Low systemic vascular resistance

c. Critically ill patent with arterial hypertension (Systolic BP>140 mmHg or Mean AP>100 mmHg)
d. Systolic blood pressure 100 mmHg
e. Mean arterial pressure 55 mmHg
(SC) 24. The normal Central Venous Pressure (CVP) values are: 

a) <0 mmHg

b) ±5 mmHg 

c) 0-8 mmHg 

d) 18-20 mmHg 

e) >20 mmHg 

 Answer: c


(SC) 25. The optimal Pulmonary Capillary Wedge Pressure (PCWP) values are:

a) 0 mmHg

b)  < 5 mmHg

c) 5-12 mmHg 

d) 18-20 mmHg

e) >20 mmHg 

(MC) 26. Choose the correct statements that refer to the intra-aortic balloon pump counterpulsation:  

a) a balloon, which has a volume of 60-80 ml, is inserted via the femoral artery   

b) the proximal part of the balloon is above the renal arteries  

c) the distal part of the balloon is close to the left atrium

d) the balloon inflates with helium during systole

e) the balloon inflates during diastole 

(MC) 27. Intraaortic balloon pump is used for enhancing perfusion of:

a) Brain

b) Coronary 

c) Mesenteric

d) Liver

e) Renal 

(MC) 28. Choose the typical suggestive clinical signs of acute coronary syndrome:  

a) Chest pain lasting <20 min

b) Chest pain lasting >20 min

c) Retrosternal pain with radiation to the shoulder and left hand 

d) Dyspnea  

e) Nausea, vomiting, epigastric pain  

(MC) 29. The elective medicines used in the treatment of acute coronary syndrome are: 

a) Aspirin  
b) Ketorolac 

c) Morphine  
d) Adrenaline   
e) Propranolol  
(MC) 30. Which findings are useful in the diagnosis of acute coronary syndrome:  

a) ST elevation> 1 mm in 2 or more leads  

b) Positive T Troponin

c) Retrosternal pain  

d) Positive D-dimer 

e) Elevated serum lactate dehydrogenase levels
(SC) 31. The elective medicine used for pain treatment in acute coronary syndrome is:

a) Nimesulid

b) Fentanyl

c) Tramadol

d) Paracetamol

e) Morphine  
(MC) 32. Choose the correct statements related to morphine:

a) it decreases left ventricular preload 

b) it decreases left ventricular afterload

c) it is elective for analgesia in acute coronary syndrome

d) it increases respiratory rate 

e) it dilates coronary arteries 

(MC) 33. Choose the complications of acute myocardial infarction are:  

a) Cardiogenic shock  

b) Ventricular fibrillation  

c) Pulmonary edema  

d) Mezenterial thrombosis

e) Pulmonary thromboembolism

(MC) 34. The causes of cardiogenic shock are:  

a) Miocardial Infarction expanded on the anterior wall   

b) Left ventricular hypertrophy

c) Acute mitral insufficiency  

d) Ventricular septal rupture  

e) Left bundle branch block   
 (SC) 35. The elective treatment used in pulseless ventricular tachycardia:  

a) Immediate cardioversion  

b) Amiodarone  

c) Beta-blockers

d) Procainamide  

e) Lidocaine

(MC) 36. The components of oxygen delivery equation are:  

a) Hemoglobin (Hb)  

b) Oxygen consumption (VO2)

c) Cardiac output (CO)  

d) The partial pressure of oxygen in arterial blood (PaO2)  

e) Systemic vascular resistance (SVR)

 (MC) 37. Which statements regarding afterload are true?

a) it is the myocardial parietal tension during diastole

b) it is the myocardial parietal tension during systole  

c) it is determined by atrial blood volume  

d) it is the resistance the ventricular muscle must overcome to eject blood

e) it is clinically equivalent to systemic vascular resistance

 (MC) 38. The short-acting beta-blockers are: 

a) Propranolol

b) Atenolol

c) Esmolol 

d) Labetolol 

e) Metoprolol

 (SC)39. High systemic vascular resistance is observed in:  

a) hypovolemic shock  

b) anaphylactic shock

c) septic shock  

d) neurogenic shock

e) vasogenic shock

(MC) 40. High systemic vascular resistance is observed in:  

a) Liver cirrhosis  

b) Hypovolemic shock

c) Mechanical ventilation  

d) Pain  

e) Noradrenaline infusion
(MC) 41. Low systemic vascular resistance is observed in:  

a) Severe traumatic brain injury  

b) Sepsis  

c) Cardiogenic shock

d) Anaphylactic shock  

e) Neurogenic shock  

Answer: a, b, d, e 

(MC) 42. Low systemic vascular resistance is observed in:  

a) Hypovolemic shock

b) Acute pancreatitis  

c) Cardiogenic shock

d) Cirrhosis   

e) Anxiety
(MC) 43. Choose dysrhythmias with immediate potentially lethal damage:  

a) Second-degree atrioventricular block

b) Supraventricular tachycardia  

c) Ventricular tachycardia  

d) Torsade de pointes  

e) Sinus bradycardia

(MC) 44. Choose the factors aggravating heart failure:
a. Myocardial ischemia

b. Infections

c. Superficial thrombophlebitis

d. Dietary sodium excess

e. Diuretic therapy

 (MC) 45. Choose the indications for intra-aortic balloon pump :

a. Aortic dissection 

b. Cardiogenic shock 

c. Cardiomyopathies

d. Refractary left ventricle failure 

e. Abdominal aortic aneurysm 

(SC) 46. The most specific and sensitive biochemical marker that evokes acute ischemia / myocardial necrosis is:

a. Atrial natriuretic peptide

b. Lactate dehydrogenase

c. D-dimers

d. Troponins T and I

e. C-reactive protein

(SC) 47. Troponins T and I are the parts of the following of markers:

a. Interstitial matrix remodeling

b. Neurohumoral

c. Oxidative stress

d. Inflammation

e. Myocyte injury

(MC) 48. To make the diagnosis in acute heart failure the following diagnostic methods are used:

a. Transesophageal Echocardiography

b. Echocardiographic testing effort

c. Intra-aortic balloon pump

d. Coronarography

e. Electrocardiography

(MC) 49. In heart failure, ECG can suggest the etiology by:

a. Signs of ischemia / injury

b. Prolongation of QRS over 130 ms

c. Wall motion abnormalities

d. Arrhythmias or conduction disorders

e. Low voltage

 (SC) 50. The cardiac output value can be calculated based on the following factors:

a. Systemic vascular resistance

b. The circulating blood volume

c. only heart rate

d. Heart rate and systolic volume

e. Systolic volume and systemic vascular resistance

(SC) 51. The most common symptom of congestive heart failure is:

a. Tachycardia

b. Oliguria

c. Splenomegaly

d. Hepatomegaly

e. Dyspnea 

(MC) 52. Choose the pathophysiological effects and clinical signs associated with cardiogenic pulmonary edema:

a. Increased pulmonary capillary wedge pressure (PCWP)

b. Alveolar edema

c. Crackles

d. Hemorrhagic fluid expectoration

e. Swelling in the front of shin

 (SC) 53. In determining blood flow resistance the most important factor is:

a. Length of a vessel

b. blood viscosity

c. Diameter of a vessel

d. Blood pressure

e. Flow rate

(MC) 54. Which of the following can be used in the treatment  of acute heart failure:

a. Nonsteriodal anti-inflammatory drugs 

b. Converting enzyme inhibitor

c. Beta blocker

d. Diuretic

e. Fresh frosen plasma

(SC) 55. What is the most common cause of sudden cardiac death:

a. Cocaine abuse

b. Mitral valve prolapse

c. Cardiomyopathy

d. Ventricular arrhythmia

e. Atrial fibrillation

(SC) 56. What is the correct position of a patient with pulmonary edema in the bed:

a. Lateral safety position

b. Lying down

c. Half-sitting 

d. With legs up

e. Standing

(SC) 57. Which of the following monitoring parameters relates to the cardiovascular system ?

a. Tidal volume

b. Systolic volume

c. Infused volume 

d. Transfused volume

e. Expiratory volume

Acute Respiratory Failure                                              
(SC)1.Choose the anatomical structure which binds to the anterior edge of Epiglottis:

a. Arytenoid cartilage 

b. Corniculate-cuneiphorme cartilages

c. Crycoid cartilage

d. Thyroid cartilage

e. Vocal cords

 (MC) 2. Choose the values of the PaO2/FiO2 ratio characteristic of ARDS:

a. <100

b. <200
c. <300
d. >300

e. ═400
(MC) 4. Tick the clinical signs of Hypercapnic Respiratory Failure:

a. Abdominal pain

b. Agitation

c. Dyspnea

d. Somnolence
e. Sweating

 (SC) 5. Choose the statement that defines PaO2: 

a. Fraction of inspired O2  
b. Oxygen content in arterial blood

c. Oxygen saturation of arterial blood

d. Partial pressure of O2 in arterial blood  

e. Partial pressure of O2 in venous blood

(MC) 6. Choose the triggering factors of ARDS:

a. Pleuritis

b. Pneumonia
c. Pulmonary contusion

d. Sepsis

e. Shock states
(SC) 7. Choose the statement that defines FiO2: 

a. Fraction of inspired O2  
b. Oxygen content in arterial blood

c. Oxygen saturation of the arterial blood

d. Partial pressure of O2 in arterial blood  

e. Partial pressure of O2 in venous blood

(SC)8. Select the pathognomonic radiographic sign in ARDS: 

a. Basal infiltrates
b. Bilateral diffuse fluffy infiltrates
c. Hypertransparency

d. Movement of mediastinal structures

e. Unilateral pulmonary infiltrate

(MC) 10. Tick the pathophysiological mechanisms that lead to Acute Respiratory failure:

a. Altered ventilation/perfusion ratio

b. Alveolar hyperventilation 

c. Alveolar hypoventilation

d. Disorder of the alveolar-capillary diffusion 

e. Intrapulmonary right-left shunt

(SC) 11. Choose the normal range for PaO2:

a. <60 mmHg

b. 65-70 mmHg

c. 75-80 mmHg

d. 85-90 mmHg

e. 95-100 mmHg

(SC)12. Tick the Tidal volume recommended for mechanical ventilation in patients with ARDS:

a. 3ml/kg 

b. 6 ml/kg 

c. 10 ml/kg 

d. 15 ml/kg

e. >15 ml/kg 

(SC)16. Tick the threshold PaO2 value that defines hypoxemia:

a. 30 mmHg

b. 40 mmHg

c. 50 mmHg

d. 60 mmHg

e. 80 mmHg

(MC)20. Choose the mechanisms contributing to hypercapnia:

a. Alveolar hyperventilation

b. Alveolar hypoventilation

c. Increased CO2 concentration in the inhaled blend (reinhalation)

d. Increased dead space

e. Increased O2 concentration in breating air

(MC)22. Choose the nasal cannula characteristics:

a. it allows 0.4 FiO2 

b. it allows 0.7 FiO2 

c. it allows feeding and communication 

d. it irritates the mucosa

e. It is easily tolerated by the patient

(MC) 24. Tick the objectives of  tracheal intubation:

a. Achieving an appropriate extracorporeal oxygenation

b. Providing mechanical ventilation

c. Treatment of airway obstruction

d. Facilitating the oxygen therapy

e. Protection of the airways

 (MC)25. Choose the statements that are valid for hypoxemia:

a. PaO2<60 mmHg 

b. PaO2=95 mmHg 

c. PaO2>90 mmHg 

d. SaO2< 90%     

e. SaO2>96%

(SC) 28. Tick the parameter that characterizes the severity of ARDS:

a. PaCO2
b. PaO2/FiO2
c. PAO2/FiO2
d. PaO2/PvO2
e. PAO2-PaO2
(MC)31. Choose the signs and symptoms ARDS can start with:

a. Bradycardia

b. Dyspnea

c. Psychomotor agitation

d. Tachycardia

e. Tachypnea

(MC)35. Tick the manifestations induced by hyperventilation:

a. Hypocapnia 

b. Hypoxemia 

c. Metabolic acidosis

d. Respiratory acidosis

e. Respiratory alkalosis

(MC)36. Tick the features of the facial simple mask:

a. it allows phonation

b. it does not require sedation

c. it ensures administration of 100% O2 (FIO2=1,0)

d. It is easily accepted by the patient

e. It may cause epistaxis

(MC)37. Choose the true statements for ARDS:

a. it induces hypoxemic respiratory failure 

b. It is a consequence of increased alveolar-capillary membrane permeability

c. It is cardiogenic pulmonary edema

d. Represents non-cardiogenic pulmonary edema

e. The severity is determined by the PaO2/FiO2 ratio
(MC)39. Tick the oxygentherapy complications:

a. Acute lung injury 
b. Atelectasis 

c. Hyperventilation

d. Hypotension

e. Hypoventilation

(MC)40. Choose the common causes of ARDS:

a. Burns 

b. Chronic renal failure

c. Hemorrhagic necrotic pancreatitis

d. Massive transfusion

e. Septic shock

(MC) 42. Tick the causes of hypoxia:

a. Hyperventilation 

b. Intoxication with carbon monoxide

c. Low cardiac output

d. Severe anemia

e. Shock

(MC)43. Choose the medications used in the management of airway obstruction:

a. Dexamethasone

b. Dopamine

c. Salbutamol

d. Terbutaline

e. Theophylline

(MC)44. Choose the treatment of status asthmaticus:

a. Administration of adrenaline

b. Administration of albuterol

c. Administration of antibiotics

d. Application of the Safar's triple maneuver 

e. Oxygen therapy

(MC)45. Tick the effects of severe hypoxia:

a. Cardiac arrhythmias 

b. Coma 

c. Metabolic acidosis

d. Metabolic alkalosis

e. Myocardial ischemia

(MC)46. Tick the consequences of hyperventilation:

a. Hypocapnia

b. Hypoxemia

c. Metabolic acidosis

d. Respiratory acidosis

e. Respiratory alkalosis

(MC)47. Tick the options characteristic of the anatomical dead space:

a. It is the volume of air contained in the airways (oropharynx, trachea, bronchi)

b. It is the volume of air contained in the alveoli

c. It is the volume of air contained in the machine ventilation circuit

d. The normal value is 10% of the Tidal volume
e. The normal value is 30% of the Tidal volume
(MC)50. Tick the factors that modify O2 arterial content (according to the formula):  

a. Amount of hemoglobin 
b. Blood pressure

c. Lactate

d. Arterial oxygen saturation (SaO2)

e. The partial pressure of the O2 in the arterial blood (PaO2)
 (MC)51. Choose the parameters on which the delivery of O2 (according to the formula) depends:

a. Arterial oxygen saturation 

b. Heart rate (through cardiac output)

c. Serum hemoglobin concentration

d. Stroke volume 

e. The partial pressure of CO2 in arterial blood

(SC)52. Choose the parameter for the evaluation of the severity of respiratory distress syndrome:

a. Blood pressure

b. FCC

c. PaO2/FiO2
d. PO2
e. SpO2
(MC)55. Choose  the diagnostic methods of respiratory distress syndrome:

a. Chest radiograph with bilateral opacities not explained by effusions, lobar or lung collapse, or nodules  

b. Impaired oxygenation, defined as a PaO2/FiO2 ratio of 300 mmHg or less 

c. Onset within one week after the effect of a known pathological factor or new or worsening respiratory symptoms

d. Pulmonary wedge pressure>18 mmHg
e. Respiratory failure not explained by cardiac failure or fluid overload

(MC)56. Tick the "direct injury" risk factors for ARDS:

a. Burns

b. Pneumonia

c. Pulmonary contusion

d. Sepsis

e. Toxic  inhalation

 (MC)57. Tick the "indirect injury" risk factors for ARDS:
a. Acute hemorrhagic necrotic pancreatitis 

b. Community acquired pneumonia

c. Major trauma 

d. Multiple blood transfusions 

e. Sepsis 

(SC)60. Choose the true definition of dead space:

a. The volume of air contained in the alveoli

b. The volume of air contained in the  respiratory system, not participating in gas exchange

c. The volume of air contained by the respiratory system, participating in gas exchange

d. The volume of air entering the lungs during a normal breathing in

e. The volume of air exhaled from the lungs during a normal breathing out

(SC)61. Tick the normal value of the anatomic dead space:

a. 1 ml/kg body weight

b. 2 ml/kg body weight

c. 5 ml/kg body weight

d. 8 ml/kg body weight

e. 10 ml/kg body weight

(SC)62. Choose the statement defining Tidal Volume:

a. The amount of air left in the lungs following a maximal exhalation

b. The amount of air someone is able to take in with a deep inhalation 

c. The amount of air which enters the lungs during normal inhalation at rest
d. The amount of extra air exhaled during a maximal breath out

e. The volume of air inhaled or exhaled by the lungs for a minute

 (SC)63. Choose the common clinical manifestation occuring in pulmonary embolism:

a. Bradycardia 

b. Bradypnea

c. Dyspnea

d. Dysuria

e. Hypertermia 

(MC)65. Specify the causes of exacerbation of chronic obstructive pulmonary disease:

a. Bacterial infections

b. Cessation of smoking

c. Polluted environment

d. unjustified interruption of chronic medication

e. Viral infections

(MC)66. Choose the  physiological events in COPD:

a. Anxiety

b. Chronic cough

c. Chronic sputum production 

d. Dyspnea

e. Oliguria

 (MC)68. Choose the characteristics of non - rebreathing mask:

a. It provides a FiO2 higher than 0,6

b. It has a O2 reservoir

c. It has no O2 reservoir 

d. It has one-way valve 

e. It provides a FiO2 up to 0,6

(MC) 69. Choose the first line recommended clinical examinations of a patient complaining of dyspnea:

a. Acid-base balance

b. Bronchoscopy

c. Chest X-ray

d. Pulmonary scintigraphy

e. electrocardiogram

(MC) 71. Choose the treatment options in acute asthma:

a. Inhalations with corticoids

b. Low fluid intake to prevent acute pulmonary edema

c. Nebulization with an anticholinergic

d. Nebulization with beta-2-agonists

e. Oxygen therapy

(MC) 72. Choose the medication used in the treatment of exacerbation of chronic obstructive pulmonary disease:

a. Antibacterial drugs

b. Bronchodilators

c. Diuretics

d. Hypnotics

e. Systemic corticosteroids

(MC) 78. Tick the oxygen therapy complications:

a. Absorption atelectasis

b. Anorexia, nausea

c. Hypoventilation 

d. Retrolental fibroplasia in premature infants

e. Seizures

(MC) 81. Tick the pathological conditions presenting expiratory dyspnea with wheezing and/or bronchial rales:

a. Acute pneumonia

b. Acute pulmonary edema

c. Decompensation of chronic obstructive pulmonary disease

d. Pneumothorax

e. Pulmonary embolism

(SC) 82. Tick the clinical sign which is not characteristic of asthma crisis:

a. Anxiety

b. Bradypnea with inspiratory dyspnea  

c. Cough

d. Expiratory dyspnea 

e. Wheezing

(SC) 83. Choose the false statement concerning pulmonary embolism:

a. Deep vein thrombosis is the most frequent cause of pulmonary embolism

b. Hypercoagulability is a risk factor

c. It is a congenital disease

d. It is caused by the migration of an embolus in the pulmonary arterial circulation

e. Risk factors are long tubular bone fractures

 (SC) 88. Choose the term that defines the volume of air inspired/expired during respiration at rest:

a. Tidal volume

b. Dead space volume 

c. Residual capacity

d. Residual volume

e. Vital capacity 

 
(MC) 89. Tick the signs and symptoms specific to status asthmaticus:

a. Anxiety with air hunger

b. Chest hyperinflation  

c. Jugular turgidity in expiration

d. Stridor

e. Wheezing

(SC) 92. What is the O2 concentration in inspired atmospheric air:

a. 15-16% 

b. 21%
c. 24%
d. 35%
e. 50%
 (SC) 99. Choose the parameter estimated by pulse oximetry:
a. Arterial oxygen saturation  
b.  Cardiac output
c. O2 partial pressure in arterial blood
d. Pulmonary capillary occlusion pressure
e. Vascular  resistance
Correct answer: a

                        Shock states.      Fluid and transfusion therapy. Parenteral nutrition                              
1. (MC)  Septic shock is defined as :
a. sepsis
b. persisting hypotension requiring vasopressors to maintain MAP≥65mmHg
c. persisting hypotension requiring vasopressors to maintain SAP≥120 mmHg
d. serum lactate level >2 mmol/L despite adequate volume resuscitation
a. Heart rate >100/min

2. (SC). Choose the first-choice vasopressor for treatment of hypotension despite adequate volume resuscitation in septic shock:

a. epinephrine

b. dobutamine

c. phenylephrine
d. norepinephrine 

e. vasopresine

3. (SC) Choose the first-choice fluid in the resuscitation of septic shock:

a. hydroxyethyl starches

b. fresh frosen plasma 

c. red blood cells 

d. crystalloids

e. 5% dextrose 

4. (SC) Sodium bicarbonate therapy is indicated for patients with septic shock if pH is:
a. 7.10

b. 7.2

c. 7.3

d. 7.35

e. 7.4

5. (MC)  Choose  the conditions that may cause cardiogenic shock:
a. myocarditis 
b. life-threatening arrhythmias  
c. constrictive pericarditis

d. conduction abnormalities

e. valvulopathy
6.  (MC) Which of the following is correct concerning cardiogenic shock:
a. stroke volume is increased  

b. end-diastolic pressure is increased 

c. cardiac output is low  

d. anaerobic metabolism is increased 
e. delivery of oxygen to tissues is increased 

7. (SC) Choose the drug of first choice for the treatment of arterial hypotension in patients with cardiogenic shock:
a. epinephrine

b. dobutamine

c. dopamine

d. phenylephrine 

e. norepinephrine 

8.  (MC)  Choose the methods of choice for the treatment of patiens with cardiogenic shock (secondary to acute myocardial infarction):
a. coronary angioplasty
b. circulatory support 
c. coronary artery-bypass surgery
d. medical treatment   
e. thrombolysis
9. (MC) Which of the following statements is true concerning intraaortic baloon pump:
a. the aortic diastolic pressure is increased

b. the resistance to left ventricular output due to presystolic deflation is increased  

c. the resistance to left ventricular output due to presystolic deflation is reduced

d. the aortic diastolic pressure is decreased

e. the baloon is inflated during the systole 
10.  (MC)  Which of the following statements concerning the intraaortic baloon pump is true:  

a. it is a definitive therapy for patients with cardogenic shock 

b. it is a temporary therapy for patients with cardogenic shock

c.  the balloon is inserted into the ascending thoracic aorta  

d.    the balloon is inserted into the descending thoracic aorta 

e.    the baloon is inflated during the diastole 

11. (MC)  Which drugs will not be used in order to increase cardiac contractility in patients with cardiogenic shock and synus rhythm: 
a. corglicon

b. dobutamine

c. epinephrine

d.  izoprenaline

e. strophantine
12.  (SC) Which type of shock does pulmonary embolism belong to: 
a. cardiogenic

b. distributive

c. extracardiac obstructive

d. hypovolemic

e. septic

13. (SC) Choose the symptom that is not present in patients with pulmonary embolism:
a. cough

b. dyspnea

c. chest pain 

d. bradypnea

e. tachycardia

14. (SC) Choose the imaging test of choice for massive pulmonary embolism:

a. echocardiography
b. electrocardiography

c. arterial blood gases

d. chest x-ray

e. computed tomography angiography

15. (MC) Choose the electrocardiographic changes in pulmonary embolism:

a. sinus tachycardia

b. inversion of T waves in leads V1 – V4

c. sinus bradycardia

d. S1Q3T3 pattern
e. Right axis deviation 
16. (SC) Choose the correct anticoagulation therapy in pulmonary embolism:

a. Unfractionated heparin  - bolus of 40 units/kg, followed by an infusion of 18 units/kg per hour

b. Unfractionated heparin - bolus of 40 units/kg, followed by an infusion of 5 units/kg per hour

c. Unfractionated heparin - bolus of 50 units/kg, followed by an infusion of 5 units/kg per hour

d. Unfractionated heparin  - bolus of 80 units/kg, followed by an infusion of  18 units/kg per hour

e. Unfractionated heparin - bolus of 80 units/kg, followed by an infusion of 14 units/kg per hour

17. (SC)  The target range of  aPTT  during heparization  of patients with pulmonary embolism  should be:
a. 1.0 – 1.3 times control 
b. 1.2 – 1.5  times control 
c.  1.5 – 2.3  times control
d.  2.5 – 3.5 times control 
e.  3.5 –4.5  times control
18.  (MC)  Choose the triggers of anaphylaxis:

a. antibiotics

b. hypovolemia

c. vaccines

d. local anesthetics

e. insect stings 

19. (MC)  Choose the correct statements concerning anaphylaxis:
a.  stroke volume increases compensatory

b. vascular permeability is increased
c. stroke volume is decreased

d. blood volume  decreases

e. mediators contribute to vasodilation 
20. (MC)  Choose the correct statements regarding  anaphylaxis:
a. IgE  is involved in pathophysiology

b.  IgM is involved in pathophysiology

c. mediators contribute to vasodilation 

d. mediators contribute to vasoconstriction
e. vascular permeability is decreased 

21. (MC) Choose the correct therapeutic options concerning anaphylaxis:
a. intramuscular epinephrine in a dose of 0.01 mcg/kg to a maximum of 0.5 mg in adults 

b. intravenous epinephrine bolus of 50 mcg 

c. intravenous infusion of epinephrine if the arterial hypotension persists despite the bolus administration

d. glucagon as an adjuvant to epinephrine in patients who are on beta-blocker therapy  

e. 5% dextrose solution  for fluid replacement 

22. (SC) Choose the drug of first choice for the treatment of arterial hypotension in patients with anaphylaxis:
a.  epinephrine

b. dobutamine

c. dopamine

d. norepinephrine

e. phenylephrine
23. (MC) Which of the following can cause anaphylaxis:
a. bronchospasm 
b. increased cardiac output 

c. increased vascular permeability 

d. hypervolemia

e. generalized vasodilation 

24.  (MC) Choose the agents commonly used in the treatment of anaphylaxis: 

a.  epinephrine

b. diphenhydramine 

c. hydrocortisone 

d. nitroglycerin 

e. normal saline 
25.  (MC) Choose the conditions that may cause neurogenic shock:
 a. severe bleeding

b. acute myocardial infarction

c. severe brain injury 

d. severe intracerebral hemorrhage 

e. spinal cord injury 

26. (MC) Choose the agents commonly used in treatment of neurogenic shock:
a. epinephrine

b. nitroglycerin

c. norepinephrine

d. normal saline

e. lactated Ringer,s solution

27. (MC) Which of the following statements concerning neurogenic shock is true:
a. cardiac output is increased

b. patients have relative hypovolemia 

c. cardiac output is decreased

d. there is generalized vasodilation 
e. there is generalized vasoconstriction 

28. (SC) Choose the drug that is not used in the treatment of neurogenic shock:

a. epinephrine

b. nitroglycerin

c. norepinephrine

d. normal saline 

e. lactated Ringer,s solution

29. (MC) Choose the symptoms of neurogenic shock:

a. Abdominal pain

b. Arterial hypotension

c. Tachycardia

d. Warm dry skin

e. Bradycardia

30. (SC) Choose the correct therapeutic option for the treatment of bradycardia in neurogenic shock:

a. Metoprolol

b. Norepinephrine  

c. Atropine

d. Hydrocortisone

e. spinal immobilization
31. (MC)  Choose the causes of hypovolemic shock:

a. burns

b. diabetic ketoacidosis

c. bleeding

d. bowel obstruction

e.  sepsis

32. (MC) Choose the common findings in hypovolemic shock: 
a. lactic acidosis

b. elevated  serum renin levels 

c. elevated serum norepinephrine levels 

d. low serum angiotensin II levels

e. low serum aldosteron levels 

33. (MC) Choose the compensatory mechanisms in hypovolemic shock:
a. sympathetic nervous system stimulation 

b. decreased sympathetic nervous system activity

c. renin-angiotensin system  stimulation  

d. parasympathetic nervous system stimulation 

e. increased secretion of aldosterone 
34. (MC)  Choose the symptoms of hypovolemic shock:
a. decreased urinary output 

b. confusion or lethargy 

c. hypotension

d. bradycardia

e. prolonged capillary refill time 

35. (SC) Which solution would be the most appropriate initial volume replacement for a patient with hypovolemic shock:

a. Dextran 40

b. Lactated Ringer,s solution

c. 0.45% normal saline

d. 5% Dextrose solution

e. 10% Dextrose solution

36. (MC) Choose the types of shock in which glucocorticoids are used:
a. hypovolemic shock

b. cadiogenic shock

c. septic shock

d. anaphylactic shock 

e.  obstructive shock (massive pulmonary embolism)
37. (MC) Choose the clinical indications for the use of washed red blood cells:
a. history of hemolytic transfusion reactions
b. IgA-deficient patient 
c. history of recurrent, severe allergic reactions to blood product transfusion 

d. IgM-deficient patient
e. history of anaphylactic shock 

38. (MC)  Choose the clinical indications for the use of leukocyte depleted RBC :
a. patients with antibodies to leucocytes 

b. IgA-deficient patient  
c. prevention of HLA-alloimmunization 

d. patiens with history of hemolytic transfusion reactions
e. patients with leukocytosis 

39. (MC) Choose the indications for the use of fresh frozen plasma:
a. for correction of  excessive microvascular bleeding in  the  presence of  an INR  greater than 2.0

b. Parenteral nutrition 

c. for augmentation of  plasma volume  

d. for augmentation of  albumin  concentration 

e. for an urgent  reversal  of  warfarin therapy  when prothrombin complex concentrate is not available 

40. (MC) Choose the indications for the use of albumin:
a. burns

b. treatment  of  oedema not responsive to diuretics 
c. microvascular bleeding

d. Hemophilia A

e. Hemophilia B

41. (MC) Cryoprecipitate contains:
a. factor VIII

b. factor XII

c. factor XIII

d. vonWillebrand factor

e. fibrinogen

42. (MC) Cryoprecipitate is indicated for the treatment of  microvascular bleeding of patients with:
a.  Hypofibrinogenemia
b. Thrombocytopenia

c. Von Willebrand disease

d. hemophilia A

e. hemophilia B

43. (MC) Choose the true statements concerning dextrans:
a. they are used to expand a patient's blood volume
b. they possess antigenic properties 

c. they are used for parenteral nutrition 

d. they are used to correct microvascular bleeding

e. themaximal recommended dosage is 1.5 g/kg/day
44. (MC) Choose the true statements concerning starches: 
a. they are used to expand patient's blood volume
b. they reduce  patient's blood volume
c. they are used to correct coagulation factor deficiency 

d. they are used for parenteral nutrition 

e. they have  little antigenic properties 

45. (MC) Choose the crystalloid solutions: 

a. Normal saline solution

b. 5% Dextrose solution

c. 6% hydroxyethyl starch  solution

d. Ringer's solution

e. Lactated Ringer’s solution

46. (MC)  Choose the colloid solutions: 

a. Lactated Ringer’s solution

b. Normal saline solution

c. Intralipid

d. 6% hydroxyethyl starch  solution

e. Gelatin solution 

47. (MC) Which of the following statements concernicing 5% Dextrose solution is true: 
a. it is used for treatment of microvascular bleeding

b. it is used to expand patient's blood volume
c. it  is used for parenteral nutrition 

d. it can be administered by  peripheral vein 
e. it is used for dehydration treatment

48. (MC) Which of the following solutions is used for parenteral nutrition:
a. Aminosteril

b. 5% Dextrose solution

c. 10% Dextrose solution

d. Infezol

e. fresh frozen plasma
49. (SC) Daily requirements of carbohydrates (adult patient) for total parenteral nutrition are:

a. 10-20% of total calories 

b. 20-30% of total calories 

c. 30-40% of total calories 

d. 50-60% of total calories 

e. 70-80 of total calories 

50. (SC) Daily requirements of lipids (adult patient) for total parenteral nutrition are:
a. 10-20%  of total calories 

b. 25-30% of total calories 

c. 35-40% of total calories 

d. 45-50% of total calories 

e. 55-60% of total calories 

51. (MC) Choose the lipid emulsions used for total parenteral nutrition:
a. Aminoplasmal

b. Aminosteril

c. Infezol

d. Intralipid

e. Lipofundin

52. (SC) Choose the basic adult daily requirements of water for total parenteral nutrition:

a. 10-20  ml/kg body wt

b. 20-30 ml/kg body wt 

c. 30-40 ml/kg body wt 

d. 40-50 ml/kg body wt 

e. 50-60 ml/kg body wt 

53. (MC) Choose the aminoacid solutions used for total parenteral nutrition:
a. Intralipid

b. Aminosteril

c. Aminoplasmal

d. Lipofundin

e. Infezol

54. (MC) The caloric value of dextrose is: 
a. 2.7 kcal/g 

b. 3.7 kcal/g

c. 4.5 kcal/g 

d. 5.5 kcal/g

e. 6.0 kcal/g 

55. (SC) The caloric value of lipids is:
a. 3.7 kcal/g 

b. 4.1 kcal/g

c. 5.5 kcal/g 

d. 6.5 kcal/g

e. 9.3 kcal/g 

56. (SC) The caloric value of proteins is:
a. 3.7 kcal/g 

b. 4.1 kcal/g

c. 5.5 kcal/g 

d. 6.5 kcal/g

e. 9.3 kcal/g 

57. (MC) The dextrose solutions used for total parenteral nutrition are:
a. 5% Dextrose 

b. 10% Dextrose 

c. 20% Dextrose 

d. 30% Dextrose 

e. 40% Dextrose 

58. (SC) Which of the following statements concernicing gelatin solutions is true:
a. they are used to expand patient's blood volume
b. they induce a greater plasma volume expansion than starches 

c. they are used to correct clotting factors deficiencies

d. they are used for total parenteral nutrition

e. they have no sensitizing properties

59. (SC)  Choose the correct value of basic adult daily requirements of proteins for total parenteral nutrition:

a. 0.8-1 g/kg body wt

b. 2-3 g/kg body wt  

c. 3-4 g/kg body wt  

d. 4-5 g/kg body wt  

e. 5-6 g/kg body wt   

60. (SC)  Choose the correct value of basic energy requirements  for an adult patient:

a. 15 kcal/ kg/day

b. 30 kcal/ kg/day

c. 50  kcal/ kg/day

d. 75 kcal/ Kg/day

e. 100 kcal/ Kg/day

61. (SC)  Choose the indication for normal saline infusion:

a. treatment of acidosis
b. parenteral nutrition
c. treatment of  microvascular bleeding

d. expansion  of  patient's blood volume
e. treatment of alcalosis   

62. (SC) Choose the indication for  hydroxyethyl starch solutions infusion:

a. parenteral nutrition
b. correction of  microvascular bleeding

c. expansion  of  patient's blood volume
d. treatment of acidosis
e. treatment of hypoalbuminemia
63. (SC) Choose the indication for  20% Dextrose infusion:
a. parenteral nutrition
b. correction of  microvascular bleeding

c. treatment of acidosis
d. treatment of hypoalbuminemia
e. expansion  of  patient's blood volume
64. (SC) Choose the treatment of choice to correct arterial hypotension in hypovolemic shock?
a. Lactated Ringer’s solution

b. norepinephrine

c. hydrocortisone

d. 10% Dextrose solution

e. cryoprecipitate
65.  (SC)  Choose the type of shock in which  epinephrine is the  drug of choice for the treatment of arterial hypotension:

a. Neurogenic

b. Anaphylactic

c. Septic

d. Cardiogenic

e. Hypovolemic

66. (MC) Choose the signs of shock:
a. altered mental status
b. lactic acidosis

c. Oliguria

d. Poliuria

e. Arterial hypotension

67. (МC)  Choose the types of shock in which  norepinephrine is the  drug of choice for the treatment of arterial hypotension:

a. Neurogenic
b. Anaphylactic
c. Septic
d. Cardiogenic
e. Hypovolemic
Coma states                                                                                    

1. (SC) Respiratory centers are localized in:

a. the medulla oblongata and pons

b. Only in the medulla oblongata

c. the hypothalamus

d. the cerebellum 

e. the cerebrum

Raspuns. a

2. (SC) The total volume of cerebrospinal fluid in an adult is approximately:

a. 25 ml

b. 75 ml

c. 130 ml

d. 200 ml

e. 250 ml

3. (MC) Brain herniation can produce:

a. Anisocoria

b. Bilateral pupils dilatation 

c. Consciousness improvement 

d. Hemodynamic disorders 

e. Rhythm disorders 

4. (MC) Choose the criteria of Glasgow coma scale:

a. Pupil size

b. Verbal response

c. Eyes response

d. Eyes position and movement 

e. Motor response 

5.  (MC) Choose the components of classic Monroe-Kellie doctrine:

a. Brain
b. CSF
c. Extracelular fluid
d. Tentorium 
e. Blood 
6. (SC) Choose the definition of cerebral perfusion pressure:

a. the difference between systemic blood pressure and intracranial pressure (ICP)

b. the difference between systolic and dyastolic blood pressure

c. the difference between mean arterial pressure and ICP

d. the difference between systolic blood pressure and ICP

e. the difference between dyastolic blood pressure and ICP 

7. (MC) Which of the following is useful for the diagnostic of brain death:

a. Glasgow coma scale = 3 points

b. Bilateral miosis 

c. Bilateral mydriasis 

d. Apnea test 

e. Atropin test 

8. (MC) Choose the conditions that can lead to coma state:

a. Dyselectrolytemia

b. Dyslipidemia

c. Hyperglycemia

d. Hypoxia

e. Hypoglycemia

9. (MC) The consequenses of hypercapnia are:

a. Cerebral vasodilatation

b. Increased cerebral blood flow

c. Decreased intracranial pressure 

d. Decreased production of cerebrospinal fluid  

e. Increased intracranial pressure 

10. (MC) Choose the factors which raise cerebral blood flow and intracranial pressure:

a. Hyperventilation

b. Hypoxemia

c. Epileptic seizure

d. Hypercapnia

e. Hypothermia

11. (MC) Choose the paraclinical methods used to diagnose coma patients:

a. CT examination

b. MRI

c. C reactive protein level

d. Electroencephalography 

e. Lumbar puncture 
12. (SC) Choose the first line method for diagnosis of comatose patients:

a. MRI

b. Lumbar puncture 

c. CT examination 

d. Evoked potentials

e. Electroencephalography 

13. (MC) Choose the osmotic drugs:

a. dextran 70

b. saline solution 

c. NaCl 3%

d. Mannitolum 

e. saluretic drugs 

14. (MC) Choose the side effects of glucocorticosteroid therapy:

a. hypoglicemia

b. immunosupression

c. upper gastrointestinal bleeding 

d. systemic hypotension

e. hyponatriemia

15. (SC) Choose the examination that is not used for brain death diagnosis:

a. test of cerebral nerves 

b. Adrenaline test 

c. doll’s eyes test 

d. Atropin test 

e. Apnea test

16. (MC) Choose the metabolic disfunctions that can cause/induce consciousness disturbances:
a. Hypopotassemia

b. Hypernatremia

c. Hypercholesterolemia

d. Hyperglycemia

e. hyperazotemia 

17. (SC) Which level of cerebral perfusion pressure is recommended to maintain in severe head trauma patients:

a. 50 mmHg

b. >70 mmHg

c. >80 mmHg

d. >90 mmHg

e. 50-70 mmHg

18. (SC) Choose the normal value of intracranial pressure:
a. <5 mmHg

b. 5-12 mmHg

c. 5-15 mmHg

d. 18 mmHg

e. <20 mmHg

19. (MC) Choose the conditions that a patient should meet  before performing apnea test:
a. normothermic patient

b. normal blood pH

c. systolic blood pressure>120 mmHg
d. sinus rhythm 

e. normocapnia 

20. (MC) Choose the conditions that increase intracranial pressure:

a. hypoventilation

b. hyperventilation 

c. hypoxemia

d. hyperoxia

e. blood hypertension

21. (SC) Choose the false statements concerning intracranial pressure (ICP): 

a. the normal value is 15-20 mmHg

b. it is recommended to maintain ICP below 20  mmHg 

c. the rising of ICP results in bradycardia

d. the rising of ICP is associated with increased blood pressure

e.  hyperventilation is recommended for the treatment of intracranial hypertension

22.(SC) Choose the most appropriate solution for volume replacement therapy for patients with severe head injury:

a. sol. Glucoză 5%

b.sol. NaCl 0,9%

c. sol. NaCl 3%

d. sol. Ringher 

e. Harman

23. (SC) Choose the false statements concerning Mannitol:

a. mannitol is an osmotic drug 

b. it is recommended for vasogen cerebral edema treatment 

c. it is contraindicated if the serum osmolality exceed 320 mosm/l

d. it is recommended to be administered as a bolus  

e. recommended doses are 0,5-1 g/kg

24. (SC) Choose the most common cause of intracerebral bleeding in adults of average age (50-70 year-old):
a. Venous cerebral stroke 

b.Disseminated intravascular coaglation 

c. Amyloid angiopathy 

d. Cerebral arteriovenous malformation 

e. Coagulation disturbances 

25. (SC) Choose the most common cause of subarachnoid hemorrhage:

a. Saccular cerebral aneurism 
b. Drug induced vasculitis
c. Intracranial artery dissection
d. Moyamoya disease
e.  Arteriovenous malformation 
26. (MC) Choose the cardiac diseases that can lead to ischemic cerebral stroke:
a. Bacterial endocarditis
b. Cervical artery dissection
c. Intraventricular thrombosis 

d. Atrial fibrilation 

e. Thromboangiitis obliterans 
27. (MC) Choose the recommended drugs in patients with coma of unknown origin:

a. flumazenil 

b. concentrated glucose solution (40%)

c. thiamine 

d. naloxon

e. dantrolen 

28. (SC) Choose the first choice drug used in opioid overdose:

a. codein

b. pentazocine

c. butorphanol 

d. naloxon 

e. methadon

29. (MC) Choose the clinical conditions which can cause consciousness disturbances:

a. Na+ level 118 mmol/l

b. K+ level 2.5 mmol/l

c. Blood sugar 28 mmol/l

d. Cholesterol level 200 mg/dl

e. PaCO2 >70 mmHg

30. (SC) Choose the maximum value of intracranial pressure recommended to the patients with severe brain trauma:

a. 12 mmHg

a. 12-15 mmHg

b. 20 mmHg

c. 28 mmHg

d. 30 mmHg

31. (MC) Choose the true statements concerning apnea test:

a. it is a compulsory test for brain death diagnostic 

b. it is recommended to the patients with a Glasgow coma scale <5 points

c. before to perform the test the patient should be preoxygenated with 100% O2
d. spontaneous breathing is a criteria of positive test 

e. desaturation is not a criteria to discontinue the test 

32. (MC) Choose the true statements concerning atropin test:

a. it is a test used for brain death diagnosis 

b. it assumes i/m administration of atropin 

c. lack of heart rate acceleration is a sign of positive test 

d. the decrease of heart rate is a sign of positive test

e. it tests the competence of cardioaccelerator nerves 

33.  (MC) Choose the side effects of hypothermia:

a. delayed wound healing 

b. thrombotic complications 

c. heart rhythm disturbances 

d.  shivering 

e. reduced cerebral metabolic rate 
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